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Supplemental Fig. S2
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Supplemental Fig. S3
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Supplemental Fig. S4
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Supplemental Fig. S5

A FeD/Cis FeS/Cis
WT DFO _WT DFO kDa
FPN|--- - |-62
Fih 1| am o -——- 1o
Tfl'1| —_— - = — —|-98
Alas1| - - |—71
AIa32| S —— .....-|-65
Hmw--————-——<—ﬂ&
Hmox2|oo.- et aa |_36

B-actin|--—--- L R — |.43

B FeD/Cis FeS/Cis
WT _DFO WT _DFO kDa
p16|--.----.-..-|-16

P53[Mm - - 53

P21[c o e e 21

VH2A X [smamam s snom smomon s |- 16

H2A.x|--~pau-~--.-|-16

B-actin| DR | 43

C FeD/Rh FeS/Rh

Veh DFO _Veh _DFOQ kDa

FPN|* - .- - |-62
Fth1|--—— - ——-— «|-19
Trr | - == =]
Alas| - E
AIa52|——-—-- ——————— 65
Hmox1 |..- —————————— 33
Hmox2|--- ......... |-36

B-actin|.---- -- ---.-|-43




Supplemental Fig. S6
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Supplemental Fig. S7
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